74~
mlﬂ@t#ﬂfﬂ

ENGINE MOUNT TROLLING MOTORS

NOTE: Do not return your Minn Kota motor to your retailer. Your
retailer is not authorized to repair or replace this unit. You may
obtain service by:

« calling Minn Kota;

« returning your motor to the Minn Kota Factory Service Center;
« sending or taking your motor to any Minn Kota authorized ser-
vice center on enclosed list.

Please include proof of purchase, serial number and purchase
date for warranty service with any of the above options.

PLEASE THOROUGHLY READ THIS USER MANUAL. FOLLOW ALL
INSTRUCTIONS AND HEED ALL SAFETY & CAUTIONARY NOTICES
BELOW. USE OF THIS MOTOR IS ONLY PERMITTED FOR PERSONS THAT
HAVE READ AND UNDERSTOOD THESE USER INSTRUCTIONS. MINORS
MAY USE THIS MOTOR ONLY UNDER ADULT SUPERVISION.

Basic Operation
Applications
Installation of Motor
Installation of Module
Installation of Control
Installation of Cables
Cautions

Circuit Breaker
Battery Connections
Battery Information
Wiring Diagram
Testing and Operation
Propeller Replacement
Trouble Shooting



https://www.boatid.com/minn-kota/

| Note: Optimal operating condition is with outboard engine trimmed down

CAUTION:

CONTINUOUS HIGH SPEED OPERATION WITH THE UNIT SUBMERGED, CAN
AND WILL RESULT IN HEAVY STEERING AND COULD CAUSE SEVERE DAM-
AGE TO THE MOTOR OR PROPELLER.

w
>
@
3
o)
m
3
N
3
S)
2

Once installed, the EM unit should be fully submerged when being used. See illus-
tration right.

Trim the main engine, to bring the EM motor and propeller out of the water, before
engaging in high speed propulsion with the main engine. Failure to properly trim the
outboard can and will result in “heavy steering”. Since there are many different boat/
motor configurations, you should trim the outboard “up” until proper steering returns.
See illustration right.




MINN KOTA ENGINE MOUNTED ELECTRIC FISHING MOTOR
Before installing your MINN KOTA Electric fishing Motor, make sure that the model you have selected is right for your boat and motor.
Use the chart below to verify you have selected the right size motor based on the recommendations below.

3
3
=
R
=
)
=
(7]

Boat Length 14 | 16 | 18 200 | 222 | 24 | 2@
EM - 12v
Motor selection [ 80 EM - 24v [
Recommendation [ 101EM - 36v [
[ 160EM - 24v [
[ 202EM - 36v

Measure the water depth to make sure that your boat rides low enough in the water so that the MINN KOTA motor and propeller will be
fully submerged. Make sure you measure from the waterline to the top of the anti-cavitation plate of the outboard engine.

Because of its unique mounting location, usage of Minn kota Engine Mounted Electric Fishing Motors may be restricted on certain small-
er and /or lighter weight boats. A minimum water depth is required for proper operation. Use the chart and the illustration on page 3 to
determine if your boat meets the minimum water depth.

WARNING: Engine Mount Trolling Motors are designed to be center mounted ONLY. Mounting an Engine Mount outside of a
boats centerline can cause damage to the EM or to the boats engine. Water craft with more than a single outboard are generally not
a proper application for the Engine Mount.




3
2
O
b
3
)
2
(7

In addition, check your boat for possible interference that may be caused by swim-
ming platforms, trim and tilt mechanisms and other attachments that could interfere
with the Minn kota motor once it is installed. Be sure to check for clearances with
your engine both in its down position and in its up or tilt position.

The following tools and items are required to complete the installation of your

MinnKota Motor:

* An electric drill with a 3/8” and a 1/8” drill bit.

* A 9/16” wrench and 9/16” socket wrench with extension.

* A phillips head screw driver.

» Two clamps to help hold the mounting bracket in place while marking the holes
for drilling.

» One, two, or three 12-volt batteries to connect to your MinnKota motor (See
Battery Sections).

NOTE: Installation procedures are the same for both outboards and I/O’s.

13” MINIMUM WATER DEPTH

FOR PROPER OPERATION

PROFONDEUR MINIMALE
D’EAU DE 33,02 CM

(13 PO) POUR LE BON
FONCTIONNEMENT




Position the MinnKota Engine Mount Motor on single EM units, or the lower mount

bracket on dual EM units onto the anti-cavitation plate of the main engine. Place the WARNING: REMOVE IGNITION KEY

MinnKota EM motor as close to the main engine as possible. In some cases the mount- N
ing bracket may need to be “flexed” in or out to insure a good fit on the anti-cavitation TO PREVENT ACCIDENTAL START
plate. ING OF MAIN ENGINE DURING
+ Clamp or hold the motor in place and carefully mark and drill six 3/8” holes.
* Place the insulator pad between the feet of the EM lower mount bracket and the cav- INSTALLATION.

itation plate.

Place the six 3/8” bolts in place along with the washers as shown, and attach with
the hex nuts.

Route the cable(s) from the MinnKota motor(s) through the cable hooks into the boat
through a cable port or any other available opening.

On some boats, it may be necessary to add a cable port through the transom.
Consult your marine dealer for appropriate hardware.

Be sure to leave enough slack in the cable to raise and lower the main engine. Use
the cable ties supplied to secure the MinnKota EM cable(s) to the engine housing
or to other cables on the boat to prevent snagging, and to make sure that the cable
does not become lodged underneath the main engine bracket when it is raised and
lowered.

Check for cable pinch by turning the outboard or 1/0O from lock to lock.

Be sure to use the adhesive filled heatshrink provided on the motor connections to
prevent corrosion.

=
@
N
F
F
>
=
S
2
o
w
=
S
o
b

Bolt

/ Boulon
ﬁ ﬁ ﬁ Flat washer

/ Rondelle plate

Insulator Pad
Bloc d’Isolant

Flat washer
Rondelle plate

Nut
Ecrou




P
2
N
P
P
>
|
)
=
o
Q
S
o
S]
S
P
m

Control Module
(single unit module shown)

Screws

The control module contains all of the electronics that are used to

control the speed of your MINN KOTA Motor. The control module

should be mounted in or near your boat's battery compartment.

* To mount the module, mark and drill 1/8-inch pilot holes and
fasten securely with the four #10 screws provided.

The hand controller comes equipped with approximately 18 feet of cable and is
designed to be installed at or near the driver’s seat. Self-adhesive Velcro® fabric

is supplied to mount the hand controller to any smooth surface. This allows you to

remove the hand controller and operate it from anywhere in the boat. The controller,

for example, can be mounted on or near the dash board, placed by the throttle control
for the main engine or on the side of the driver’s seat.

« Be sure the surface where you are going to mount the controller is clean and dry.
Attach the fabric pad Velcro® to the back of the hand controller box. Attach the
hooked pad piece of Velcro® to the boat where the controller will be located.

* Route the cable from the controller through a side wall or along the edge of the
floor of the boat to the battery area where the electronics module is located.

Supplied with:
Hook Velcro®




Complete the installation of the motor by connecting the remaining cables:
Make sure the hand controller is in the “off” position
+ Slide heat shrink over the cable(s) from the MinnKota Motor(s) and connect them to the WARNING: ARCING (SPARKING) CAN

control module. Center heatshrink and apply heat. CAUSE BATTERIES TO EXPLODE. TO
+ Connect the battery cables according to your corresponding wiring diagram. PREVENT ARCING, ALWAYS PLACE

1. Attach the red leadwire ring terminal to the ( + ) terminal. THE SPEED CONTROL KNOB ON OFF

2. Attach the black leadwire ring terminal to the ( —) terminal. BEFORE CONNECTING THE CABLES.

3. Secure tightly with the wing nuts.
* Plug in the hand controller cable to the matching cable on the back side of the control
module. Make sure this cable is threaded together snug and secure.

NOTICE: DO NOT APPLY LUBRICANT OR ANY TYPE OF GREASE TO TROLLING MOTOR CONNECTORS

Violet Leadwire (+) Threaded Hand Control Connection

To Motor(s)

Hand Controller

=
2
N
P
P
>
=
o
=
o
S)
2
®
h
m
»

To Battery: Red (+), Black (-)

Gray Leadwire (-)
To Motor(s)

AN

Control Module (Dual Unit Shown)




O
b8
c
=
©)
2
(7

Attention:

*Avoid running your motor with the propeller outside of the water. This may result in injuries from the rotating propeller.

«It is recommended to set the speed selector to zero and place the motor in the deployed position prior to connecting power cables. Disconnect
power cables prior to stowing.

*Always ensure that the power cables are not twisted or kinked; and that they are securely routed to avoid a safety or trip hazard. Ensure
cables are unobstructed in all locations to avoid damaging the wire insulation. Damage to the insulation could result in failure or injury.

*Always inspect the insulation of the power cables prior to use to ensure they are not damaged.

*Disregarding these safety precautions may result in an electrical short of the battery(s) and/or motor. Always disconnect the motor from the
battery(s) before cleaning or checking the propeller.

Caution!

*Always operate the motor in a safe distance away from obstructions. Never approach the motor when the propeller is running. Contact with a
spinning propeller may endanger you or others.

*Always exercise safe practices when using your motor; stay clear of other watercrafts, swimmers, and any floating objects. Always obey water
regulations applicable to your area of operation.

*Never operate the motor while under the influence of alcohol, drugs, medication, or other substances which may impair your ability to safely
operate equipment.

*This motor is not suitable for use in strong currents exceeding the thrust level of the motor.

The constant noise pressure level of the motor during use is less than 70dB(A). The overall vibration level does not exceed 2,5m/sec~.



BOAT RIGGING AND MOTOR INSTALLATION:

An over-current protection device (circuit breaker or fuse) must be used with this system. Coast Guard
requirements dictate that each ungrounded current-carrying conductor must be protected by a manually reset,
trip-free circuit breaker or fuse. The type (voltage and current rating) of the fuse or circuit breaker must be sized
accordingly to the trolling motor used. The following breaker sizes are recommended guidelines:

Maximum thrust Voltage Recommended circuit breaker rating

EM55 12V 12V
EM80 24V 24V
EM101 36V 36V
EM160 24V 24V
EM202 36V 36V

60A @ 12VDC
60A @ 24VDC
50A @ 36VDC
120A @ 24VDC
100A @ 36VDC

The appropriate wire size needed to connect your Engine Mount System to the trolling motor batteries varies
depending on the length of cable needed and voltage of the motor. For additional information, please consult
appropriate ABYC (American Boat and Yacht Council) and Coast Guard requirements.

Reference:

United States Code of Federal Regulations: 33 CFR 183 — Boats and Associated Equipment
ABYC E-11: AC and DC Electrical Systems on Boats

Q
X
3]
S
b |
w
®
>
m
X




EM 80
24V Single




This page provides MinnKota® WEEE compliance disassembly instructions. For more
information about where you should dispose of your waste equipment for recycling and
recovery and/or your European Union member state requirements, please contact your
dealer or distributor from which your product was purchased.

Tools required but not limited to: Flat Head screw driver, Phillips screw driver, Socket
set, Pliers, wire Cutters..



R
>
=
(7]
=
(7]
-

S22 OONOOTORWN =

2-100-234
421-276
2-200-161
2-300-149
2-600-234
188-094
973-025
830-027
975-041
701-043
2772917

990-051
990-052
144-017
830-094
880-025
725-095

701-009
836-001

992-010
990-045
140-010
2396233
9950953
9950950
2990241
2990247
2385401
2380210
2383810
2383418
1378132
2331160
2262658
2091701
2093101
2381940
2383122
2381726
2381728
2383422
2307310
2075401
2373427
2385110
2994856

ARMATURE 24V 4.0

PLAIN END

CENTER HOUSING ASSEMBLY

BRUSH END HOUSING (CONTAINS 4-9 )
BRUSH PLATE ASSEMBLY (CONTAINS 5, 6, 9)
BRUSH

SPACER - BRUSH PLATE

SCREW #10-32 X 2 SLF THREAD

BRUSH SPRING

O-RING [2 EA]

LEADWIRE ASSEMBLY

WASHER STEEL
WASHER NYLATRON
FLANGE BEARING
THRU-BOLT 12-24 X 10.31
SEAL [2 EA]

PAPER TUBE

O-RING THRUBOLT

ALUMINUM PLUG

SPRING WASHER [2 EA]

THRUST SPACER

BALL BEARING

MOTOR ASSY 24V 4.0 80#

VELCRO 1.5 X 2.0 LOOP

VELCRO 1.5 X 2.0 HOOK

HAND CONTROLER

CONTROL MODULE

SHRINK TUBE [2 EA]

TOP CAP

STRAP, EM

SCREW 1/4-20 SELF TAPPING [6 EA]

PROP KIT

PROPELLER

DRIVE PIN

WASHER, PROP LARGE

NUT, PROP

LOWER BRACKET

NUT 3/8-16 NYLOCK [6EA]

WASHER FENDER 3/8 X 1 1/4 OD [3 EA]
WASHER 3/8 [3 EA]

SCREW 3/8 X 1 1/4 [BEA]

FERRITE BEAD (EUROPEAN MOTORS ONLY)
HEATSHRINK (EUROPEAN MOTORS ONLY)
SCREW #12 X 5/8 [4 EA]

INSULATOR PAD, EM

BAG ASSY (CONTAINS 38-41,32,28,29,47, 50, & TIE WRAPS)



BATTERY CONNECTION

g 12 Volt Systems:
- 1. Make sure that the motor is switched off (speed selector on “0”).
H 2. Connect positive (+) red lead to positive (+) battery terminal.
b 3. Connect negative () black lead to negative (—) battery terminal.
< 4. For safety reasons do not switch the motor on until the propeller is in the water.
(2]
(OB 24 Volt Systems:
§ 1. Make sure that the motor is switched off (speed selector on “0”).
m 2. Two 12 volt batteries are required. ' ™
(2] 3. The batteries must be wired in series, only as directed in wiring diagram, to provide 24 volts.
:' a. Connect a connector cable to positive ( + ) terminal of battery 1 and to negative (—) terminal of battery 2. * IMPROPER WIRING OF 24/36 VOLT SYS-
g b. Connect positive (+) red lead to positive (+) terminal on battery 2. TEM COULD CAUSE BATTERY EXPLOSION!
(7 c. Connect negative (-) black lead to negative (=) terminal of battery 1. « KEEP LEADWIRE WING NUT CONNECTION
4. For safety reasons do not switch the motor on until the propeller is in the water. TIGHT AND SOLID TO BATTERY TERMI-
NALS.
36 Volt Systems: « LOCATE BATTERY IN A VENTILATED
1. Make sure that the motor is switched off (speed selector on “0”). COMPARTMENT.
\ _

2. Three 12 volt batteries are required.

3. The batteries must be wired in series, only as directed in wiring diagram, to provide 36 volts.
a. Connect a connector cable to positive (+) terminal of battery 1 and to negative (—) terminal of battery 2.
b. Connect a connector cable to positive (+) terminal of battery 2 and to negative () terminal of battery 3.
c. Connect positive (+) red lead to positive (+) terminal on battery 3.
d. Connect negative (—) black lead to negative (-) terminal of battery 1.

4. For safety reasons do not switch the motor on until the propeller is in the water.

If installing a leadwire plug, observe proper polarity and follow instructions in your boat owner’'s manual.

See wiring diagram on following pages.




BATTERY INFORMATION:

The motor will operate with any deep cycle marine 12 volt battery/batteries. For best results use a deep cycle, marine battery with at least a 115 ampere hour rating. As
a general on the water estimate, your 12 volt motor will draw one ampere per hour and your 24 volt motor will draw .75 ampere per hour for each pound of thrust pro-
duced when the motor is running on high. The actual ampere draw is subject to your particular environmental conditions and operation requirements. Maintain battery
at full charge. Proper care will ensure having battery power when you need it, and will significantly improve the battery life. Failure to recharge lead-acid batteries
(within 12-24 hours) is the leading cause of premature battery failure. Use a variable rate charger to avoid overcharging.

If you are using a crank battery to start a gasoline outboard, we recommend that you use a separate deep cycle marine battery/batteries for your Minn Kota trolling motor.

Advice regarding batteries:

Never connect the (+) and the (-) terminals of the battery together. Take care that no metal object can fall onto the battery and short the terminals. This would

)
>
3
m
Py)
-<
2
Qo
2
>
3
o
>4

immediately lead to a short and utmost fire danger.

Recommendation: Use battery boxes and covered battery terminal clamps like Minn Kota accessory #MK-BC-1.

12V Over-Current Protection Devices not shown in illustrations.

——==—i o]

HAND CONTROLLER

CONTROL MODULE

VIOLET (+) GRAY (-) RED (+) BLACK (-)

2 £

BATTERY 1

MOTOR




S
2
3
®
S
=
2
>
=

24V Over-Current Protection Devices not shown in illustrations.

CONTROL MODULE

(+) AND ()
TO SECOND
MOTOR

VIOLET (+)

(DUAL UNIT SHOWN)

HAND CONTROLLER

GRAY (-)

MOTOR(S)

RED (+)
ROUGE

CONNECTING WIRE

BLACK (-)

2

BATTERY 2

:

BATTERY 1

]
Q
+

36V Over-Current Protection Devices not shown in illustrations.

(+) AND (-)

TO SECOND
MOTOR

VIOLET (+)

GRAY (-)

MOT:!

OR(S)

CONTROL MODULE
(DUAL UNIT SHOWN)

-]

HAND CONTROLLER

RED (+)

CONNECTING WIRE

CONNECTING WIRE

BLACK (-)

BATTERY 3

BATTERY 2

B

_|_

BATTERY 1




Now that your MinnKota Motor is correctly installed, make sure everything is operating properly.

Make sure that all objects and people are away from the prop.

» Slowly turn the speed control knob to FORWARD to a slow running position. If everything is hooked up properly, the prop will turn

in a clock-wise motion as viewed from the inside of the boat.

« Slowly turn the speed control knob to REVERSE to a slow running position. If everything is hooked up properly, the prop will turn in

a counter clockwise motion as viewed from the inside of the boat.

Operatlng your MinnKota Motor is as easy as switching on the lights.

With your motor in a down position, select either a forward or reverse speed by turning the speed control knob in the desired direc-

tion.

» Steering is easy. Use your boat's steering wheel to turn your main engine (and the MinnKota motor) either left or right.
» To stop the propeller, turn the speed control knob to OFF. The speed control switch should remain in the “off’ position when operat-

ing your outboard or during storage.

PROPELLER REPLACEMENT:

« Disconnect motor from battery prior to changing the propeller.

» Hold the propeller and loosen the prop nut with a pliers or a
wrench.

» Remove prop nut and washer. If the drive pin is sheared/broken,
you will need to hold the shaft steady with a screwdriver blade
pressed into the slot on the end of the shaft.

» Turn the old prop to horizontal ( as illustrated ) and pull it straight
off. If drive pin falls out, push it back in.

« Align new propeller with drive pin.

* Install prop washer and prop nut.

« Tighten prop nut 1/4 turn past snug. [25-35 inch Ibs.] Be careful,
over tightening can damage prop.

N

If the motor does not run at all:

CAUTION: DISCONNECT THE MOTOR
FROM THE BATTERY BEFORE BEGINNING
ANY PROP WORK OR MAINTENANCE.

~

Slot End
Extrémité fendue

Weedless Propeller

Hélice anti-herbe —3»

Prop nut e @\@

Ecrou de I'hélice

Washer
Rondelle

Drive pin
Broche d’entrainement

» Check to see if the hand controller cable is completely plugged into the control module.
 Check battery connections for proper polarity. If the connections are reversed, the motor will not run.

» Check motor(s) lead connections.
« Check the charge in the batteries to make sure they are not “dead.”

» Check motor(s) for obstructions, the motor(s) may have gone into current limit. To reset; return the speed control knob to the off position,

remove obstructions and resume operation.

If the motor runs slowly:
» Use a battery gauge to see if the charge is low.
« Check for corrosion on battery terminals.
» Check for weeds or fishing line on the prop.

Discover other boat parts and hardware on our website.

NOILVYHd3d0 ANV ONILST1

d3T773d0dd

|
)
S
o)
h
m
4
I
®)
®)
|
2
@



https://www.boatid.com/parts-hardware.html

	Пустая страница



